-2







fENER T AR

26.05

o
N
Vo, e

07.13
P W = (|
(!
Ql
(
q
q
q
q
\‘ (
: (
(
\ q
(
(
(
(
(
(
(
5.73 +6.09 (]
(
\ q
q
q
\ q
(

>
000

I
S

I

L =
M\‘\“‘%’%
=

m=

4 g7l @ (b ' =0 . ‘
ad ( ‘ . .18.32 . R § = X . .
3 B ) =
q S qa >. 218.60 \ ‘ \S E
31 IS Al ) El
AR DXE (08 ( F
= (DS DN WO et -; .\j
a2 n,‘_'_f__'_f_'.f.'_. _____ ._._._._._._._._ 3 | y
° TS e L2 ° @ SR
o o . = S. ' 4 01644 GD-2-1 S lz
° ° i! S 16.71 16.58 ? J__,-? ‘E
° ° (W T -—- l\-.-_l_-‘.g
° : -\ ffffffffff e s ‘5995!""~""' LK T6.
T - TP T -_—_.!,,_..--" 1o
g
——
8\i3_ %
/
—
_—%‘—
———

10 N I!ii_'i’ll
L8 0 G
B V(0 . 3
H 0\
LA

/
/
%—
|
_—%‘

—————

«11.16

1-£ (KB & X1 : 200

9.09 : ERBOEEMBHE  Bik+9. 09m
9.09 : BB E  #EH+9. 09m



09 °6‘/2'/

- _

8.77 == —
‘-‘-‘-‘

H“““““‘

9.00
[2728]

(R A gy s =]
e T (N O il I L
T T
E" = 14.89
‘ | T— = (Jm[ﬂ [“514]
° |97 °9.09 (-
‘\ e 8=
‘ + < o5
[
= 15.25
T?_J [4622]
A AAAAAAA e T 25 i
__ 1T = | g
— 1
a
® o] L
) = - o B -
A5+5N5
°7.13 N16.39
- LABNS
16.40

2-#8F9 - &P - £IR 1 ETFERE O 1: 100

I ERBYFEOTEIIREMN ] THS
FEKRS v NOERREFEENTH D,



————n

[~
A=
I o “’

il
0S5y 00°¢ 00'Y

—
|
|
|
|
|
|
|
|
\
|
|
|
|
|
|
\
|
|
|
|
\
|

BREMEN (BERMH)

e~ 4
?:*
L ‘-.
s I
¥

o

|
| r | | o . = _Lnﬂa @sef g
1 | | EE——— I T : its
W m.@ e
’ <~ |
ol TN
/ f
i
| S
Jv‘ . iyeg
) wa mm L
NN L
-
mﬂkﬁd%’m! L T 1 T 1 \
\m....«mmﬁ...e ot —
.C‘v-.ll. = A U.*Nr\\lw TU .
H(Qfmw%%(fwﬁ T8I8Il 1 |
| )

[N

e

—

MM

s

s
, |

,
,
,
,
,
,
,
,
|
,
,
,
,

- L

S AR N A A A A A A A K

S
2 8
— &
#
S
_mmm
N
—
S
g g
» N
)
IR
L
s I

W‘“"

NN AR A A A



i

]

a
0

10.00

EER (FAAZER)

FER GREAIER)

- 100

1

4-t&FmEE (1)



10. 00m

tEEX

FHmES

10. 00m

AZEEX

: 100

1

S-1EMEE (2)



SUSKi)
maLns

SUSHAR 253 pL=2v BRIZ2AK

INERO.15%0.42

BE0.5%06

BIR 1.0¢ ;2o §xo.

R 1.0x1.0K8H

[B0.43 ) BEURERAWEAHFr v T h=2t
—yy

A0, 25 %0/ 25@1.5/2
{etEgriniR  /20.08
WEH®IR  F0. 0883 Y

imow/d

1470, 45%0.6

BHE [50.06

08k (xa)

0.7x0.7

#A 0.35x0. 3§@

BIAR0. 7x0.5

H0.15%0,

17 [50.06

FA_1.10x1.4

0.15x5

FEEQ, 1X0.11~0.2

HAEER 15 x5 (HISSUSTRE)

2 ;ﬁ@ﬁ W1 ORE
T T A —H AR UNE R ERER

PN PSS E )

—

FEAREEAUSEMISST | Oh=1503 U R FPLE x 60 x 1503 1) ZALHMHPLOF

! 1
L] \/zj A4 1 1l g;/
fe#tER 0.25x0.15 @1.5/2 (REFTELRK@1.5) '@ g%g g%ﬁ ggm&u

iR 2H0.05

HHRAREEMUSE W18 Y Gh=5F EIEAPLE x 60 x 15

HEFER 0.15x0 15@1.5

#0.30%0.20

B
ERZEEH@RD 1:10

s B,
. il

% 10.00m AE®10.00m BT
§ BEREXM (W)
§£Gi - EXEGL (mEasaXETITT)
BEEE

Foh—RL b (LEHREERE. THESBHLMEA)



A A A A A AR A A Py Al A al A A %
s —— B 5 B B B B S B B S B B B B w s T
[
[T 1 1T TI 1T I T TI 1T I [T

alla] [ lallal [alallalla] [allallalla

allalalla]|lalalalallallals
(YT T T T T T T T TP T T T o [T T T I T T o TE T T T T T T T T TT T TT o T T ITITIT
. | T T T e, eI amimimimimimin I EEEIE I

ITHTTTTETTTHITT U]

hice ] i

I i O T 107 T 1L U T T T T o T 10T T T Tu]
IRNERNANNINRNEREE HEEEEENIRENRIENEN
1 = T T
o ==
DL=10.00 l é : DL=10.00
T 7
[uE
RN (EHFEY)
X x = ﬁ
U 1T 1T [T [T 1T 1T [T [T 1T 1T [T 1T 1T 1T 1T 1T [T L
e la][alalalallalallallal[alallala]|[alalalallalalallalla
| I T T T T 0 I T T T o T T o T T T T o M T T I T T o I T T [T | L
I e T e ST T I T I |
T3] TR T
- -
o | 7 1
ITT] AL HEN
[[]
: ‘ L[] LT
“M 1 Y 1L O O O L A L I O A ot .
il EERINARINARIRRARE
e = iR N N

DL=10.00

REMAN (EHEEY)

1M RFAR

1

: 100



B THIES
2.90 9.00
[879] [2728]

1.0
[32571 BUGTkICLS

B it TN I

— ke :0.65 X 0.65 HEH B :060x0.35
| | FE4E:1.0%065
i 97065040 B :0.35 % 040
: I
i [ S e———— WL ]
Hl T T
= | I i = ]
imo—— T !
e 50,10 I I ‘
E:0[15%045 i
‘ i
i

TEE

8-#FIFmEMK 1:50



EmEX

Vi

FEE

: 100

1

9-®KMIIER



#E #8%H0.8x0 6x3R
BEAR HAH0.8x0 15x3R
SUSHAR 253 1) pL=27F 3RIZ2AK

SUSKKY) B0 45U BLUBBRREAFYY T h=2
BEVWS—UVY HEEE RMLLIR

3.53
10711 HARO. 35 % 0. 52

T A—AL0 NFERERA%SR
A 0.15x0. 1582 E@1.0

Bitin 5
EfEER 0.25%0.27@1.125
®\F  [F0.10

BRE (ARZH) %iaF BLOREERAAE TR, AR (BlE#E)
FRARBEERASUSEMIBS Y ¢h=150% JEITEFPLE x 60 x 150 S 1) IZEMEPLO

fo30 M”s??é&&%sz 0.1@1.0
911 bstiR [0.05 KR E x0. 1@
#£0.37x0.20
.40 EF0.65%0.20
0.28 1.75
LA ) 530
3=
-
=3 295
[894]
=g
=8|
=N
B
§4:1.00% 0. 65
(10.0m)
B : 0.35%0. 40
WBEHEE : 0.60x0.35
MEHE  BIEHKEELES (9.35m)

1 O-#&F%EEt



4.42
[1340]

=TH

BiR T i:0.3/52

e

,

9e°g

|
|
|

(52911
9e°g

1

2.81
[851] mmaby),

5. 20!
[1576]

5. 20,
[1576]

: 50

1

11-FEFEHE



4
/

ST =

gruEE mUEE A EE

RiImEmE (HHizMR) FIER (HizR) tiImE (HHER)

12-TYRIEE 1:100



HE HBH0.8x0.6x3R

REEE EHLLIR B
RYAL SUSKY) [§0.43Y WEFvy IfE

0.45%0.45

# 0.7x0.7

IR0, 15112
FUA—HLOUELIERAES
BEA®E TH. AR U0
FahEEEMASUSEMIBS Y ¢h=150% 1) EIEMAPL6 x 60 x 150 ) IEEHMMEPLO
TR0 04 FEDI-FAA
EHREREO. AT Y
[FLAEO. 1% 0. 11~0. 2
KR E{F&H0. 05 % 0. 1@0. 85
§+) L/NSE 0.3x.12
0.40
0.36%0.6 [1221__
AR
9 P 2.44 0.42 0.16
[741] [1271glg[48]__
ERHEDEO. 136
= B Y FREYE2S (1.55+055)
l T 295 E}TWIWELEJ
— Ll
- R oozixos TR e b RN T4 EFHEHRIPEZ G0 15
O — E || i ks
°8 25 ] Y
< HH£0. 1x0.2 /0 I lelle}
38 HUMITE0. 08 il
w o) I “‘0*7’
ANEHEO. 1
q P
i 0.7x0.7 /// | 1
FEEYHEIT 9 P
| EiB L#2 (TeIRY) r
g1 0.3%0.3
9 o 2 - 4
L — RIS /50,45 YL0. T . ST (SEIFTEERLALY
- RIFNST 75 £ SRS 60 15K
oss o o o - / BRITESRSHS
i) fish) gt S g o 5
| 1 80.21x0.54 { ; 0|0 O O|0 0|0
.
hﬂ (10, 960 B T ER & (<4052
1
H@RaALVY—F 2.0x40%x2.0 14 (PRIPA)
. 2.0x2.0%2.0 24 (@ - iR
&iE
HERMEA BETE (B
S|
SR
N &)
| A8
(#Z&10. 00m)
K=t
=5y
B 39
SO
2=
2.00
[6061




